
1"

Je"nach"Wertebereich"sind"verschiedene"algorithmische"Ansätze"sinnvoll."

2"



3"

Naiver"Algorithmus:"Vergleiche"jedes"Element"der"einen"Menge"mit"jedem"Element"
der"anderen"Menge."

4"



5" 6"



Da"die"Mengen"vorsorFert"sind,"kann"man"sehr"effizient"den"Bereich,"in"dem"das"zu"
suchende"Element"liegen"muss,"eingrenzen."

7" 8"



Der"Wert"k"im"BitMArray"ist"dann"1,"wenn"das"entsprechende"Element"k"im"Array"
vertreten"ist,"sonst"0."
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11"

Man"kann"sogar"eine"Menge"Berechnugen"sparen."Diese"Verbesserungen"verringern"
allerdings"nur"den"konstanten"Faktor"und"nicht"die"Komplexitätsklasse."

12"



Mehrfachmengen"sind"Mengen,"die"erlauben,"dass"Elemente"mehrmals"vorkommen."

13"

IniFalisierung"des"BitMArrays"ist"ineffizient,"wenn"q"groß"ist."Frage:"Gibt"es"die"
Möglichkeit,"den"
vorher"vorgestellten"Algorithmus"zu"nutzen,"ohne"den"BitMVektor"zu"iniFalisieren?"

14"



P"und"Q"werden"auch"nicht"iniFalisiert"(anfangs"stehen"dann"dort"Zufallswerte"drin)."
Der"topMPointer"zählt,"wieviele"Bits"schon"iniFalisiert"wurden."

15" 16"



17"

P:"Im"wievielten"Schric"wurde"das"Bit"gesetzt?"
Q:"Welches"Bit"wurde"gesetzt?"
Ist"ein"Element"größer"als"das"topMElement?"=>"Wir"wissen,"dass"die"dort"stehende"
Zahl"eine"Zufallszahl"ist."

18"



19"

T"="True"

20"



21" 22"



Q"ist"„Rückversicherung“,"dass"entsprechendes"Bit"(nicht)"iniFalisiert"wurde."

23" 24"



25" 26"



27" 28"



29" 30"



31" 32"



33" 34"



35"

Bei"sehr"großen"q"will"man"gar"keinen"BitMVektor"mehr"haben,"auch"nicht"mit"LazyM
IniFalizaFon."Am"Beispiel"von"Matrikelnummern:"
Der"Wertebereich,"über"den"Matrikelnummern"definiert"sind,"ist"sehr"groß"(z.B."
mehrere"Millionen"verschiedene"Möglichkeiten),"aber"
die"Anzahl"der"an"Studenten"vergebenen"Matrikelnummern"ist"deutlich"geringer."Hier"
ist"Hashing"sinnvoll."

36"



37" 38"



HashMFunkFon"erreicht"vielleicht,"dass"alle"in"diesem"Semester"verfgebenen"
Matrikelnummern"über"Indexbereich"von"z.B."0"bis"25000"abgebildet"werden"
und"in"dem"Bereich"gleichverteilt"sind."Dazu"benöFgen"wir"eine"HashMFunkFon,"die"
dies"bewerkstelligt."

39" 40"



Ab"100"Studenten"ist"die"Kollisionswahrscheinlichkeit"bereits"bei"1"(bei"der"FunkFon"x"
mod"800)."

41" 42"



43" 44"



Es"gibt"nicht"nur"einfache"Kollisionen,"sondern"auch"Mehrfachkollisionen"(bis"zu"vier"
in"dem"Falle)."Die"Anzahl"der"Kollisionen"ist"abhängig"von"der"„Güte“"der"HashingM
FunkFon."
Aber"was"ist"eine"gute"HashingMFunkFon?"

45" 46"



47"

Für"die"„perfekte“"Schlüsselmenge"muss"man"die"Schlüsselmenge"kennen."

48"



Wir"suchen"„universelle"HashMFunkFonen“,"also"solche,"die"in"den"meisten"Fällen"gut"
funkFonieren."Trick,"den"man"einsetzen"kann:""Mehrere"HashMFunkFonen"verwenden."

49"

Modulo"einer"Primzahl"q"ist"immer"gut,"weil"man"alle"Stellen"bis"qM1"opFmal"ausnutzt."
Bei"anderen"Zahlen"kann"die"Besetzung"der"Indizes"
beliebig"ungleichverteilt"sein."

50"



p"sorgt"für"Gleichverteilung,"q‘"für"Ausnutzung"aller"Stellen"in"der"Zieltabelle."

51"

Man"kann"beliebige"HashMFunkFonen"definieren."Modulo"einer"Primzahl"ist"allerdings"
das,"was"in"der"Praxis"oo"am"meisten"Sinn"macht."

52"



Offenes"Hashing:"Man"braucht"sukzessive"neuen"Speicher,"d.h."die"Tabelle"wächst"mit"
Einfügen"von"Elementen."
Beim"gescholssenen"Hashing"steht"die"Größe"der"HashMTabelle"von"Anfang"an"fest."

53" 54"



55" 56"



Nachteil:"Kollisionen"werden"immer"heufiger,"je"mehr"Elemente"eingefügt"werden,"
weil"für"jedes"Element,"für"das"eine"Kollision"starindet,"eine"alternaFve"Adresse"
gefunden"werden"muss,"
die"dann"wiederum"die"Zieladresse"eines"anderen"Elements"sein"kann..."

57"

Im"schlimmsten"Fall"müssen"beim"Suchen"eines"Elements"alle"Tabelleneinträge"nach"
dem"Element"abgesucht"werden."
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59" 60"



61"

Man"kann"auch"sondieren,"indem"man"Speicherstellen"vor"und"nach"der"Zielstelle"in"
Betracht"zieht."

62"



63"

Das,"was"in"der"Praxis"sehr"häufig"Anwendung"findet,"ist"die"Benutzung"einer"zweiten"
HashMFunkFon."
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Im"Falle"a"="50%"hat"man"38%"„Zugriffsoverghead“,"d.h."Mehraufwand."

79"


